BID ITEM LIST

Item No.		Unit	Description	Unit Price in Figures	Unit Price Extended
1	1	LS	Mobilization, complete in place for the lump sum price	\$ 8189.75	\$ 818975
2	1	LS	Traffic Control System, complete in place for the lump sum price	\$ 35,000 ^{,00}	\$35,000.00
3	50	LF	Place Asphalt Concrete Dike (Type F), complete in place for the unit price per lineal foot.	\$ 50.00	\$ 2500.°°
4	70	SF	Install new 2" Asphalt Concrete Pedestrian Refuge with Detectable Domes, complete in place for the unit price per square foot	\$ 35.°°	s 2450.00
5	1,875	SF	New Planter Strip Concrete Sidewalk, complete in place for the unit price per square foot	\$ 10.15	s 19031 25
6	3,000	LF	Remove and Replace Concrete Curb and Gutter, complete in place for the unit price per lineal foot	45.95 \$	s137,850.00
7	23,000	SF	Remove and Replace Concrete Sidewalk, complete in place for the unit price per square foot	\$ 10.15	\$ 233,450.00
8	1,200	SF	Remove and Replace Concrete Driveway, complete in place for the unit price per square foot	\$ 15.85	\$ 19,020.00
9	10	EACH	Remove and Replace Concrete Curb Ramp with Detectable Domes "Case A", complete in place for the unit price per each	\$ 1000.00	\$ 10,000.00
10	75	EACH	Remove and Replace Concrete Curb Ramp with Detectable Domes "Case C", complete in place for the unit price per each	s 1330.00	\$ 99,750.00
11	10	EACH	Remove Existing Tree and Stump, complete in place for the unit price per each	\$ 660.00	\$ 6600-00
12	1	LS	Install Type B Passageway per Caltrans STD A88B, complete in place for the lump sum price.	\$ 7500. ⁶⁰	7500.00
13	500	SF	Remove and Replace Concrete Valley Gutter per CD-33, complete in place for the unit price per square foot		\$ 13,500.00
	-		TOTAL BID:	\$ 594, 8	\$ 13,500.00

NOTE: "TOTAL BID" is only on the last page of the Bid Item List.

GRAND TOTAL AMOUNT: five bundred ninety four Thousand eight hundred forry one only. (Written in Words)

All costs associated with the work required in the Plans and Specifications must be included in the bid items certifies that the prices in the proposal include all work as shown in the Plans and Specifications necessary to complete the work, in place and in full working order.	
Carlos Raposo Signature of Bidder	
JUR Construction, Inc.	
Company Name Printed	

2110/15

Date

The Bidder shall list the name and address of each subcontractor to whom the Bidder proposes to subcontract portions of the work, as required by the provisions in Section 2-1.01, "General," of the special provisions.

LIST OF SUBCONTRACTORS

Name and Address

1) Mountain F. Enterprises PO Box 1040, Lotus, CA 95651 License #:842929

2) Del Secco Diamond core 3311 Depot Rd License#:538606 Hayward, CA Description of Portion of Work Subcontracted

Item 11 - tree removal

Saw-cutting

(THE BIDDER'S EXECUTION ON THE SIGNATURE PORTION OF THIS BID SHALL ALSO CONSTITUTE AN ENDORSEMENT AND EXECUTION OF THOSE CERTIFICATIONS WHICH ARE A PART OF THIS BID)

EQUAL EMPLOYMENT OPPORTUNITY CERTIFICATION

The bid	der JIR	Construction;	Inc.	, I	proposed subcontractor
	NIA		hereby certifies tha	t he has \checkmark ,	has not,
participa	ated in a previo	us contract or subcontract	subject to the equal opportuni	ity clauses, as re	equired by Executive
Orders 1	10925, 11114, c	or 11246, and that, where r	equired, he has filed with the	Joint Reporting	g Committee, the
Director	of the Office of	f Federal Contract Compli	ance, a Federal Government	contracting or a	dministering agency,
or the fo	ormer President	s Committee on Equal Em	ployment Opportunity, all rep	ports due under	the applicable filling
requiren	nents.				
Note:	Labor (41 CFI connection with and subcontraction)	R 60-1.7(b) (1)), and must the contracts and subcontracts which are exempt from	e Equal Employment Opportube submitted by bidders and pets which are subject to the equal opportunity clauses of \$10,000 or under are exer	proposed subco qual opportunity are set forth in	ntractors only in y clause. Contracts
	Currently, Star implementing		s the only report required by	the Executive (Orders or their
	subject to the l (1) prevents th delinquent per	Executive Orders and have e award of contracts and s iod or such other period sp	ractors who have participated not filed the required reports ubcontracts unless such contractified by the Federal Highw U.S. Department of Labor.	s should note th actor submits a	at 41 CFR 60-1.7(b) report covering the
	No.				intervamenta dall'

BID ITEM LIST

Item No.		Unit	Description	Unit Price in Figures	Unit Price Extended
1	1	LS	Mobilization, complete in place for the lump sum price	\$ la 200-	\$ 6,200.
2	1	LS	Traffic Control System, complete in place for the lump sum price	\$ 23,000	\$23,000.
3	50	LF	Place Asphalt Concrete Dike (Type F), complete in place for the unit price per lineal foot	\$30 -	\$1,500.
4	70	SF	Install new 2" Asphalt Concrete Pedestrian Refuge with Detectable Domes, complete in place for the unit price per square foot	\$36-	
5	1,875	SF	New Planter Strip Concrete Sidewalk, complete in place for the unit price per square foot	s9. 95	\$18,656.
6	3,000	LF	Remove and Replace Concrete Curb and Gutter, complete in place for the unit price per lineal foot	s 42	\$126,000.
7	23,000	SF	Remove and Replace Concrete Sidewalk, complete in place for the unit price per square foot	\$ 10-	\$730,000.
8	1,200	SF	Remove and Replace Concrete Driveway, complete in place for the unit price per square foot	\$12	\$14,400_
9	10	EACH	Remove and Replace Concrete Curb Ramp with Detectable Domes "Case A", complete in place for the unit price per each	\$ 1,500-	\$15,000.
10	75	EACH	Remove and Replace Concrete Curb Ramp with Detectable Domes "Case C", complete in place for the unit price per each	\$ Zefoo-	\$180,000.
11	10	EACH	Remove Existing Tree and Stump, complete in place for the unit price per each	\$760	
12	1	LS	Install Type B Passageway per Caltrans STD A88B, complete in place for the lump sum price		
13	500	SF	Remove and Replace Concrete Valley Gutter per CD-33, complete in place for the unit price per square foot	\$ 17-	\$ 8500-
			TOTAL BID :	\$ 641	576.25

NOTE: "TOTAL BID" is only on the last page of the Bid Item List.

GRAND TOTAL AMOUNT: SIX hundred forty one thousand, five hundred seventy SIX and (Written in Words) twenty five cents

All costs associated with the work required in the Plans and Specifications must be included in the bid items. This certifies that the prices in the proposal include all work as shown in the Plans and Specifications necessary to complete the work, in place and in full working order.

Signature of Bidder

SPOSETO ENGINEERING INC

2 9.15

Date

The Bidder shall list the name and address of each subcontractor to whom the Bidder proposes to subcontract portions of the work, as required by the provisions in Section 2-1.01, "General," of the special provisions.

LIST OF SUBCONTRACTORS

Name and Address

Mountain F. Enterprises

Lotus, CA 9565/

Description of Portion of Work Subcontracted

Trees Removal

(THE BIDDER'S EXECUTION ON THE SIGNATURE PORTION OF THIS BID SHALL ALSO CONSTITUTE AN ENDORSEMENT AND EXECUTION OF THOSE CERTIFICATIONS WHICH ARE A PART OF THIS BID)

EQUAL EMPLOYMENT OPPORTUNITY CERTIFICATION

The bid	der	SPOSETO	ENGINEERING	INC		proposed subcontractor
				, hereby cer	tifies that he has $\underline{\checkmark}$,	has not,
participa	ated in a	previous contr	act or subcontract subject	to the equal c	pportunity clauses, as r	equired by Executive
Orders	10925, 1	11114, or 11246	6, and that, where required	d, he has filed	with the Joint Reporting	g Committee, the
Director	r of the (Office of Feder	al Contract Compliance, a	Federal Gove	ernment contracting or a	administering agency,
or the fo	ormer Pr	esident's Comn	nittee on Equal Employm	ent Opportuni	ty, all reports due under	the applicable filling
requiren	nents.					
Note:	Labor connectand sul	(41 CFR 60-1.7 ction with contractor contracts which	n is required by the Equal (b) (1)), and must be sub- acts and subcontracts which are exempt from the equal of \$100.	mitted by bidd ch are subject ual opportunit	ers and proposed subco to the equal opportunity of clause are set forth in	ontractors only in y clause. Contracts
		tly, Standard Fo nenting regulati	orm 100 (EEO-1) is the oons.	nly report requ	aired by the Executive (Orders or their
	subject (1) predelinqu	to the Executivents the award are period or s	actors and subcontractors we Orders and have not fill of contracts and subcont uch other period specified tract Compliance, U.S. D	led the require tracts unless su d by the Feder	d reports should note the sich contractor submits a al Highway Administra	nat 41 CFR 60-1.7(b) a report covering the
			6	e		

BID ITEM LIST

Item No.		Unit	Description	Unit Price in Figures	Unit Price Extended
1	1	LS	Mobilization, complete in place for the lump sum price	\$8,50000	\$ 8,500.00
2	1	LS	Traffic Control System, complete in place for the lump sum price	\$8,500,00	,
3	50	LF	Place Asphalt Concrete Dike (Type F), complete in place for the unit price per lineal foot	\$ 40,00	\$2,000.00
4	70	SF	Install new 2" Asphalt Concrete Pedestrian Refuge with Detectable Domes, complete in place for the unit price per square foot	\$ 90.00	\$6300.00
5	1,875	SF	New Planter Strip Concrete Sidewalk, complete in place for the unit price per square foot	\$ 5,80	\$ 10, 875,0
6	3,000	LF	Remove and Replace Concrete Curb and Gutter, complete in place for the unit price per lineal foot	\$ 56.00	\$168,000,0
7	23,000	SF	Remove and Replace Concrete Sidewalk, complete in place for the unit price per square foot	\$ 9.90	\$227,700
8	1,200	ŠF	Remove and Replace Concrete Driveway, complete in place for the unit price per square foot	\$ 9,90	\$ 11,880,01
9	10	EACH	Remove and Replace Concrete Curb Ramp with Detectable Domes "Case A", complete in place for the unit price per each	\$1,850,00	\$18,500,0
10	75	EACH	Remove and Replace Concrete Curb Ramp with Detectable Domes "Case C", complete in place for the unit price per each	\$2,000.00	\$150,000,0
11	10	EACH	Remove Existing Tree and Stump, complete in place for the unit price per each.	\$2,500.00	\$25,000,0
12	1	LS	Install Type B Passageway per Caltrans STD A88B, complete in place for the lump sum price.		\$ 5900,0
13	500	SF	Remove and Replace Concrete Valley Gutter per CD-33, complete in place for the unit price per square foot	\$ 15.00	
			TOTAL BID	\$ 650.	655 <u>00</u>

NOTE: "TOTAL BID" is only on the last page of the Bid Item List.

GRAND TOTAL AMOUNT: Six hundred fifty thousand, six hundred fifty five dollars in Words)

All costs associated with the work required in the Plans and Specifications must be included in the bid items. This certifies that the prices in the proposal include all work as shown in the Plans and Specifications necessary to complete the work, in place and in full working order.

	Lew Alexander	
•	Signature of Bidder	
	Nor- Cal Concrete	
	Company Name Printed	
ė,	2/10/15	
Y	Date	

The Bidder shall list the name and address of each subcontractor to whom the Bidder proposes to subcontract portions of the work, as required by the provisions in Section 2-1.01, "General," of the special provisions.

LIST OF SUBCONTRACTORS

Name and Add	ress	Description of Por of Work Subcontr	
		trucking	
1774 W.	King, Inc Winter Ave	J	
Hayward,		e -	
THE RESIDENCE OF THE PERSON NAMED IN COLUMN TWO IS NOT THE PERSON NAMED IN COLUMN TWO IS N	Enterprises, Inc.	Tree Rei	moval
PO Box	1040		1
Lotus, ca	GS GS THE BIDDER'S EXECUTION ON THE SIGNATU ALSO CONSTITUTE AN ENDORSEMENT CERTIFICATIONS WHICH ARE A	AND EXECUTION OF TH	BID SHALL HOSE
Y 1 1 1 .			
EO	UAL EMPLOYMENT OPPORT	TUNITY CERTIF	ICATION
The bidder	Nor-Cal Concrete	- n=	_, proposed subcontractor
1 S TENG	Nor-Cal Concrete king & Mountain Enterprises; here	by certifies that he has	, has not,
participated in a	a previous contract or subcontract subject to the	equal opportunity clauses,	as required by Executive
	11114, or 11246, and that, where required, he has		
	Office of Federal Contract Compliance, a Federa		
	resident's Committee on Equal Employment Opp		
requirements.			
4 - 1			
Labor connection	oove certification is required by the Equal Emplo (41 CFR 60-1.7(b) (1)), and must be submitted be ction with contracts and subcontracts which are subcontracts which are exempt from the equal opporally only contracts or subcontracts of \$10,000 o	by bidders and proposed subject to the equal opport cortunity clause are set fort	unity clause. Contracts
Currer impler	ntly, Standard Form 100 (EEO-1) is the only reponenting regulations.	ort required by the Executi	ive Orders or their
subjec (1) pro- delina	sed prime contractors and subcontractors who have to the Executive Orders and have not filed the events the award of contracts and subcontracts upont period or such other period specified by the of Federal Contract Compliance, U.S. Department	required reports should no nless such contractor subn e Federal Highway Admin	te that 41 CFR 60-1.7(b) nits a report covering the